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A Start a chain of positive and -/
(2]
\ negative numbers. — S
- w
o Find the sum of the numbers in ® +1,-2 S, =
. . oo .
. the chain. Is the sum positive or negativer: | sum = -1 - \
= Make the chain one number longer.  |[#1,-2, +3 ———— w
- Find its sum. Is it positive or negative? — | sum = +2 <
g | .
< ,+1' _21 +3I _4',,_ S
x Make the chain one number longer. — v
Find its sum. Is it positive or negative? ~ _sum=-2 D
I\ %
Continue like this until you have a E e
v chain with 12 numbers. -
- &
x - e e
Look at the pattern. Can you predict ® - N
o~ what the sum of a chain of 20 numbers ~
g would be? S EN
- I
! What would the sum of a chain
(@)
3 of 21 numbers be? S
q )
Try different types of number in your
o chain, e.g. +1, -3, then +1, -3, +5, o3
° then +1, -3, +5, -7, and so on. I
X
fé Try square numbers... +1, -4, +9, -16, etc. .
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